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3.

If n € N, then 1217 — 25" + 1900™ — (— 4)" is | 4,

divisible by which one of the following ?
(a) 1904
(b) 2000
(c) 2002

(d) 2006

If n=(2017)!, then what is

1 1 1 1
ot Tt

+ +
10g2n logan log, n logiy D

equal to ?

(a) O

(s

(c)

ro| B

(d n

In the expansion of (1 + x)%3, if the coefficients

of (2r + 1)™ and (r + 2)'" terms are equal, then

what is the value of r (r # 1) ?
(a) 5

(b) 14

() 21

(d) 22

SRCY-S-ADN

(2-A)

What is the principal argument of (-1 — i),

wherei= /-17

(a) /4
(b) —m/d
() —3mf4
(d 3mn/4

" Let o and B be real numbers and z be a

complex number. If z?2 + 0z + B = 0 has two
distinct non-real roots with Re(z) = 1, then it is

necessary that

(a) Pe(=1,0)
(b) [B=1
() Pe(l,e)
(d Be(,1)

Let A and B be subsets of X and
C=(ANB)U (A N B), where A’ and B’ are

complements of A and B respectively in X.
What is C equal to ?

(a) (AUB)-(ANB)
(b) (A'UB)-(A'NB)
(cd (AUB)-(ANB)

@ ((A'UBY-(A'NB)



SRCY-S-ADN

e n e N &, a 121" — 252 + 1900" — (= 4)"

frfafaa & o frow faws= 2 2
(a) 1904
(b) 2000
(¢) 2002
(d 2006

Ife n=(2017)! B, @I

1 1 1 1
B + st —————
log, n log3 n log4 n 10g2017 n
ferEreh SR & 7
(a) O
by 3
n
(c) E
(d n

(1+x8B % \r #, I @r + 1) 3K (¢ + 2)&
UGl % U SUSH 8, Al r(r # 1) B WE w0
292

(a) 5

(b) 14
() 21
(d) 22

(-1- )W i= "1 %, & J&T HUiF T
27

(a) mf4
(b) -mnf4
(c) —3nfd
(d) 3m/4

AH SN o 3R B adfass @ & 3 2 wh
qfory o g I?Tﬁz2+az+|3=0a-?Re(z)=1
% W1y g fi srawdfes go &, df 98 orevas
2 f%

(a) Pe(=1,0
(b) |B] =1

(c) Pe(l,e)
(d pe(0,1)

m Wi A SR B, X % IvEmem # ek
C=(@ANB)U@ nB) T, J& A 3R B
FA: AR B, XU g & | C frad s
22 |

(@ (AUuB) -(ANBY
(b) (A'U B)‘— (A’ N B)
(¢ (AUB)—(ANB)

d (AUB)-(A'NB)



7. How many numbers between 100 and 1000
can be formed with the digits 5, 6, 7,8, 9, if
the repetition of digits is not allowed i Sl
(a) =8P
(b) 58
(c) 120
(d) 60

8. The number of non-zero integral solutions of
the equation |1-2{|F=5" is
(a) Zero (No solution)

(b) One
(¢) Two
(d) Three

9. If the ratio of AM to GM of two positive
numbers a and bis 5 : 3, then a: b is
equal to
(a) 8:5
(b) * 2:9
(e} 93l
(d 5:3

SIR;CY-S—ADN |

10.

11.

12.

If the coefﬁcieﬂts of a™ and a® in the
expansion of (1 + a)™*™ are o and P, then

which one of the following is correct ?

(a) a=2p
b)) a=p
“(¢) 2a=B

(d o=(m+n)p

If x + logyz(1 + 3%) = x log,;5 + log;;12,

where x is an integer, then what is x equal to ?

(a) -3
(b) 2
(¢ 1
d '8

How many four-digit numbers divisible by

10 can be formed using 1, 5, 0, 6, 7 without

repetition of digits ?
(a) 24
(b) 36
(c) 44
(d) 64
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100 3T 1000 % 1=, 371 5, 6, 7, 8, 9 ¥ forat
HEATY 5 "ol &, AfS 3Tehi ! g &l
1T ?

(a) 9°
(b) 53
() 120
(d 60

HISHTT |1 - 2i|* = 5% % YL QU &l
T fohat & 2

(a) I[A (Ehﬁ & Rl)
(b) TUsh
©

(d) o

afg q udTeTsh TEatl a 3 b FH AM (FHIER

mw)ﬁrGM(jUﬁﬂtmw)weﬁqﬁ 588
?‘ha:b%ﬂ%wg?

(a) 3:5
(b) 2:9
€] .95
(d 5:3

10. IR (1 + ™" F v@R & a™ R 2" & oI

11,

12,

o 3R p &, 91 Frefafad § @ wb-ar ad R 2

(a) w@=2B

(b) a=p

() 2a=p

d a=(m+n)

gfe x+log15(1+3x):xlog155 +log; 12, ST&l
x T QUi B, df x forereh srrem 2 2

(a) -3
(b) 2
) 1
(d 3

ﬁ@gmq%%qﬁm 1, 5,0, 6, 7 1 FA
Hh 10 8 i 89 areft ow el A fpadt

HEAT §HTE ST bt & 2
(a) 24
(b) 36
(o) 44
d 64



Consider the information given below and
answer the two items (02) that follow :

In a class, 54 students are good in Hindi only,
63 students are good in Mathematics only and
41 students are good in English only. There
are 18 students who are good in both Hindi
and Mathematics. 10 students are good in all
three subjects. :

13. . What is the number of students who are good
in either Hindi or Mathematics but not in
English ?

(a) 99

(b) 107
(c). 125
(d) 130

14. What is the number of students who are good
in Hindi and Mathematics but not in English ?
(a) 18
(b) }2
(). 10
d) 8

15. If oo and B are different complex numbers with
|| =1, then what is |—— i equal to ?

1—ap
(a) |B]
(b) 2
k) s
d 0
SRCY-S-ADN

16.

17.

18.

The equation |1-x| +x%=5 has

(a) arational root and an irrational root
(b) two rational roots

(¢) two irrational roots

(d) no real roots

The binary number expression of the decimal

number 31 is

(a) 1111

(b) 10111
(e} = 11011
(d 11111

What is ;1000 4 ;1001 , ;1002 , ;1003 equal to
(where i= /—1)?

(a O
(b) i
(e =i
d 1



7| g 7F guEr @7 faemr Fifae siiv st s 16| 16,
a?(oz)mqf%ma’?ﬁw:
Tsh HeT U, 54 B had gl H J=B 8,
63 B hadl TG H 3T=S & AN 41 BF Had
IS § 3=’ B | 18 B UWH B oI fe=t ok
i g § o= B | 10 B dF faw #
3D E |

13. UH B <l g fhadl 8 s oo a1 &= =

o # 57 & S SR 3 ored 7 B 2
(@) 99 | 17,
b 107
() 125
@ 130

14. T BE it wE et § S e ok af &

3T=0 B Aferd 3Tft § om0 7 § 2
(@) 18

b 12

(© 10

@ 8

18.
15. e o 3 p Pefm oy gemdt € =

la| =18, @ 1“_‘@% orme st 8 2
(a |B]

(b) 2

() 1

d 0

SRCY-S-ADN ' (PR

iR |1-x | +x2=5 % &

(a) Ueh IR o 3 Tk i go
(b) < wfer ga

(c) <l IuRHT g

(@) 18 oft Irefoes get T8

THeE WS 31 B feonul we e
(Afieafer) 2

(a) 1111
(b) 10111
(¢) 11011
(d) 11111
ilOOD + ilOUl + 1:1002 + Z:1003 'Fq;gﬁ.—‘ ST %

(S&fi=—1)%8?

| (a) 0
(b) i
() -—i
d .1



19.

21.

SRCY-S-ADN

What is
1) 1 1 1
+ + e F————
log2 N ln:)g3 N log4 N loglm N

equal to(N#1)?

1}

(a) ———
loglm! N

(b)

(c)

99

d -
s logg91 N

The modulus-amplitude form of Jg + i, where

=1 is

‘What is the number of non-zero terms in the

expansion of (1 + 243 x)11 + (1 - 243 x)11
(after simplification) ?

(a) 4
(b) 5
() 6
d 11

22.

23.

24.

(8-A)

What is ‘the greatest integer among the
following by which the number 5%+7° is
divisible ?

.(a) 6
(b 8
(e} 11
(d) 12

If x = l—y'-l-yz—y3+...
where |y| <1, then
following is correct ?

up to infinite terms,
which one of the

: 1
(a) =

" 1+y

(B) xX= .

1-v

(c) x=—y—-—

1+y

Ad)- = Y

L=y

What is the inverse of the matrix

cos 0 sin 0
A=|—-sin® cos® O0|?
0 0 1.
cosf) —sin® O
(a) sin 0 cos 0 0
0 0 1)
‘cos®O 0 —sin®
(b) 0 1 0
sin 0 cos 0
1 0 0
(c) 0 cosO —sind
LO sin 0 cos 0
cos 0 sin® 0
(d) —sinfh cosb® 0
g 0 1,



1 1 1 1
B + +. +
lc:tg2 N log3 N log4N

forEes ST R, (N2 1) ?

19.

99
(¢) ——m
10g100! N

99

(d)
loggg! N

20. V3 +i, W&l i=.—1 B, T AYH-ITEH &Y 3

21 (1+2V3x0M +(1-2/3x"% R § IR

TG T G TRt 8 (Selier & w1g) 2

(a) 4
(b) 5
() 6
(d 11
SRCY-S-ADN

loglm N

22,

23.

24,

(9-A)

ﬁm%%aﬁ@rﬁ:r-maﬁn‘ﬁﬂ@ﬁméﬁm

@& 5° + 7° favreT 7 2
(a) 6

(b) 8

(e i

(@) 12

?Tﬁx=1,—y+y2—y3+...3-“l7iﬁq?ﬁﬁ$,3ﬁ
ly| <18, a1 F=fafad 9§ @ w991 a8t & 2

(a) x= L
l+y
1
(b) x:m
@ le-{y
(d) le_f3;
SR
cos 0 sin 6
A= |-sin® cos o}wsr%&ﬁnw%?
0
cos® -—-sin® O
(a) sin 6 cos 6 0
| 0 0 1
cos® 0 -—sind
(b) 0 1 0
sin 0 cos 0
1 0 0
(c) 0 cosO —sinb
0O sin#® cos 0
cos 0 sing 0
(d) —sin® cos® O
0 0 1}




25.

26.

27.

SRCY-S-ADN

(b)

If Ais a 2 x 3 matrix and ABis a2 x5 matrix,
then B must be a '

(a)

3 x b matrix
5 x 3 matrix
(¢) 3 x2matrix

(d)

5 x 2 matrix

1 2

IfA=[ }andAz—kA-—LA,:O,wherelz

2 3

is the 2 x 2 identity matrix, then what is the

value of k ?
(a) 4

(b) -4
() 8

d -8

What is the number of triangles that can be

formed by choosing the vertices from a set of

12 points in a plane, seven of which lie on the |

same straight line ? ‘
(a) 185
(b) 175
(c) 115

(d) 105

28.

29.

30.

CAD A

What is C(n, r) + 2C(n, r — 1) + C(n, r — 2)
equal to ? : '

(a) Clm+1lr)

(b) Clm-1,r+1)

(c) Cln,r+1)

(d Chn+271)

Let [x] denote the greatest integer function.
What is the number of solutions of the
equation x2 — 4x + [x] = 0 in the interval
[0, 2] ?

Zero (No solution)

(a)

(b) One
(¢) Two
(d) Three

A survey of 850 students in a University yields
that 680 students like music and 215 like
dance. What is the least number of students

who like both music and dance ?

(a) 40
(b) 45
() 50
(d) 55



25. I A TH 2 x 3 3MYE & 3 AB Th 2 x 5
AR B, @ B a9 & BT =R
(a) 3 x5 3G |
) 5 x 3 TG
() 3x23Tg
(d) 5 x 2 AR

26. ?TE'A:[; i]aﬁtAB—kA-Izzoé,aﬁ
Iy, 2 x 2 ACHHS TR 8, A1 k T T 41 8 ?
(a) 4
b ~d
() 8
(d -8

27. O wHAA § 12 fagett % v v d, S |
7%@@ﬁwwm@a%,ﬁﬁﬁéﬁ§
TR ST ST aTet Fysit 6 Hen @ 8 2
(a) 185
(b) 175
© 115
d 105

SRCY-S-ADN

28.

29.

30.

(11-A)

Cn, 1) + 2C(n, r — 1) + Cn, r — 2) Tereeh ST

??

(a) Cn+1,r

h) Cn-1,r+1)

(¢) Cn,r+1)

(d Cn+2r1)

A= Y [x] HEH qUIeh Held i Eifaa st
2 | 3aUe [0, 2] H GHIRT %2 —4x + [x] =0 F
gl & Tt feadt ? 2
(a) I (HFE &A o)

(b) T

() @
(d) doH

e favafaame™ 4 850 o1 % s gagor § 78
ww%ﬁsowwﬂaﬁﬁr@%%aﬂt
215 B T H | I SHT hl =FaH &I foherl

2 I i i e T B why TR E 2
(a) 4Q
(b) 45
(¢) 50
(d) 55




31. What is the sum of all two-digit numbers
which when divided by 3 leave 2 as
the remainder ?

(a) 1565
(b) 1585
(c) 1635
(d) 1655

32. If 0 < a < 1, the value of log,,a is negative.
This is justified by |
(a) Negative power of 10 is less than 1
(b) Negative power of 10 is between 0'and 1

"(¢) Negative power of 10 is positive
(d) Negative power of 10 is negative

33. The third term of a GP is 3. What is the

product of the first five terms ?

(a) 216

(b) 226

(c) 243

(d) Cannot be determined due to
insufficient data

34. If %, 8/2, z are in AP; x, 3, z are in GP; then
which one of the following will be in HP ?

(a) x,6,z
(b) x,4,z
(c) x2,2
d x1,z
SRCY-S-ADN

35.

36.

317.

(12-A)

What is the value of the sum
11

Z(in +i“+1), where i = Jj?

(b) 2
() -2

d 1+

T
,where 0 < x < —,
2

Ifsinx——l—- siny-L
V5’ J10

0O<y< g, then what is (x + y) equal to ?

(a) =
YR 7
(¢) m/4
(d 0

sin 5x — sin 38x
cos 5x + cos 3x

What is equal to ?

(a) sinx
(b) cosx
(¢c) tanx
(d cotx




31.

32.

33.

34.

SRCY-S-ADN

3 3Tepi areht Vel gt dEEst w ATET = 2
ﬁqﬁsﬁﬁwﬁa'mmé’rﬁw o F=AT B ?

(a) 1565

(b) 1585
(¢) 1635
(d) 1655

e 0<a<18, d log;ga T HH FOIMcHS & |
g THETT & FIfh
(a) 10 % OTeHs oTd 1 ¥ FH B

(b) 10 ! RUTTCH: ©Td 0 3N 1 o9 # B
(¢) 10 h! SRUMcHe: =Td YATCHS &

(d) 10 h! OMcH HTd FOTCHD &

foreft 1ol Aeft (GP) @1 fiET Ug 38 | SHeR|

T Gie YG| Sl TUHhET T B ?
(a)
(b)
(c) 243

ST od % i [uifa 98 fen o
Hehll

216
226

(d)

T2 x, 3/2, z @HIGL A0 (AP) ¥ &; x, 3, z TOIRK

@l’nﬂ'/hn\'ﬁ'% ﬁ%ﬂ%&:ﬂﬁﬁqmm

I \ogr) AR A Al SR R AN B | NN

T Aofl (HP)ﬁ BT 2
(a)
(b)
(6) 2%
()

X, 6, z

X, 4,z

X, 1,2

36.

37.

(13-A)

AW T8 ?
(a) 1

(b) 2

() -2
d 1+:

; 1 i 1 < n-
‘qﬁ' gy e BT 10 2
el e ST SRSy

0<y<§%,aﬁ(x+y)mw%?

(a) =
() n/2
() m/4
(d O

Smox—sme %FI%W% 5

. €08 5X + cos 3xX

(a) sinx
(b) cosx
(¢) tanx
(d) cotx




38. Whatis sin 105° + cos 105° edual to? 41
(z;) sin 50°
(b) cos_ 50"
© 142
@ o
39. In a triangle ABC if a=2, b=3 and
sin A = 2/3, then'what is angle B equal to ?
(a) m/4
(b) n/2 42,
(e n/3
(d n/6
40. What is the principal value of
si -1 [sin %EJ ?
(.a) /4
() m/2
() =/3
(d) 2n/3
SRCY-S-ADN (14-A)

If x, x — y and x + y are the angles of a triangle

(not an equilateral triangle) such that
tan (x — y), tan x and tan (x + 5?) are in GP,

then what is x equal to ?

(a) /4
(b) ﬁ/3
() n/6
d) n/2

ABC is a triangle inscribed in a circle with

centre O. Let o = £ BAC, where 45° < o < 90°.

- Let B = £ BOC. Which one of the following is

correct ?
- 2
(a) cosf= L tan2 2
1+ tan®a
2
)R 1+ tan2 (o}
1-tan“a
(" on Be Ztan;x
1+tan“a
(d) sinP=2sin?a




38. sin 105° + cos 105° frdeh I & 2

(a) sin50°
(b) cos 50f’

© 142

d 0

39. TH Bgs ABC #, Al
sin A = 2/3 %, dl %I B foras SR 2 2

(@) n/4
W w2
(c) . /3
(d /6

40. sin™! (sin%
(a) /4
(b) n/2
() w3
(d) 2n/3
SRCY-S-ADN

]WE@WW%?

a=2 b=3 3R

41.

42.

(15-A)

afe ok By (S wwerg Bge A 8) b b
x,x—y3ﬁ'(x+y3¥-fw%%tan(x—y),
tan x 3T tan(x+y)§UﬁT'l'{aUﬁ(GP)ﬁ§,?ﬁx
fopereh sRIe 8 2 ‘

(a) m/4
(b) /3
(¢) /6
(d n/2

% fog 0 a1 T g9 & A TH S

ABC ® | AF #fifSlT o = ~ BAC, W&l
45° < < 90° 2 | UH ifSw p = ~ BOC & |
ffafaa 5 @ sHar ad 2 2
1-tan? o
(a) cosfp= ——m——
b 1+ tan?«
' 1+ tan“a
(b) cosP=
g 1-tan?a
2tana
(c) cosP=
b 1+ tan?a

(d) sinp =2 sin?«




43.

44,

45.

SRCY-S-ADN

If a flag-staff of 6 m height placed on the top of
a tower throws a shadow of 2+/3 m along the

ground, then what is the angle that the sun
makes with the ground ?

(a) 60°
(b)

(e) 80°

45°

(d) 15°

What is tan™! [i] + tan™1 (%) equal to ?

(a) O
(b) m/4
() n/3

d) n/2

A spherical balloon of radius r subtends an
angle o at the eye of an observer, while the
angle of elevation of its centre is . What is the
height of the centre of the balloon (neglecting
the height of the observer) ?

r sin B
0 oL
S11 (E]

r sin

(a)

(b)

) B]
- I sin (—
(¢) AR

(d)

47.

48.

(16-A)

If S'ln(x+y):a+b, then what is tan x
sin(x-y) a-b ‘ tany
equal to ?
a
(a) E
by
a
a+b
© a—-b
—-b
d a
@ a+b

If sin o + sin B = 0 = cos o + cos P, where

0 < B < a < 2m, then which one of the following

is correct ?

(a) o=n-P

(b) a=n+f

(©  o=2n=p
(@) 2u=mn+2B

Suppose cos A is given. If only one value of

oS [%J is possible, then A must be

(a) An odd multiple of 90°

(b) A multiple of 90°
(¢)  An odd multiple of 180°

(d) A multiple of 180°




43. aﬁﬁﬁsﬁrﬂqﬂ(zm)%sﬂﬁmﬁﬁﬁ@sm

Fd eg9es hl GUad W 23 m TS BRT ISl
3, O g & 9Udd & WY T4 Tel BT H TH
fepa 8 2

(a) 60°
(b) 45°
(e) 30°
(d) 182
44. tan™! & +tan~! [%] fopmer sTeR B 2
(a) O
(b) n/4
() /3
(d) /2
45. r = 9o U MERR e, foRet SEreh <
AT@ W &IV o FAdNd FdT 8, SA9h FHb
hrgfeig T IAIT BT B | ToAR b hrferg
$1 F=m8 B R (YeTh 1 FETE B A I
L gY) ?
(2) r sin [}
sin [(—1)
2
(b) rsin
sin(c—l}
4
rsin(g]
(c) _ /
S1n o
@) r sin o
sin[ﬁ]
2
SRCY-S-ADN

CYP=iA)

47.

48.

46. 3R slln(x+y)=a+b %, - tan x

sin(x—y) a-b tany

IS 8 ?

by 2

B

(b) h
a

. a+b

(

c) i
a—b

d

& a+b

Elﬁsina+sin[3=0=cosa+cosﬁ3ﬁ
0<B<o<2rg, a F=fafeaa ¥ g w=-a1 g
22 :

(a) o=n-f
(b) o=m+p
(¢) a=2n-p
(d 20=m+23

a1 #T cos A féam mam 2 | AfE cos [%]?ﬂ

el Th & AH G99 g, a1 A HT g |y
(a) 90° I Th T TUrS
(b) 90° T TH IO

(¢) 180° T Teh fIwH T[T

(d) 180° 1 T TS




49,

50.

SRCY-S-ADN

If cos o +cos B +cosy=0, where 0 < o < %,

T
2

sin o + sin f§ + siny ?

0<fB< g,0<ys , then what is the value of

(a) O

(b) 3

() —

(d)

The maximum value of
sin [x -+ E) + cos (x + E] , where x € (0, E] 2
5 5 2

is attained at

(a)
(b)
(c)

(d)

Mo 3

51.

52.

83.

(18—A)

What is the distance between the points which

divide the line segment joining (4, 3) and (5, 7)
internally and externally in the ratio 2 : 3 ?

12417
5

1317
5

(a)

(b)

V17
(e
5
@ 6\/517

What is the angle between the straight

3

lines (m?-mn)y=(mn +n? x +n’ and

(mn +m?) y = (mn - n?) x + m3, where m >n ?

2mn
(a)edanll—t
: m2 +n?

i D29
(b panrl 2000
m* —n

.19
(¢) tan’! %
m”* +n

(d) 45°

What is the equation of the straight line
cutting off an intercept 2 from the negative
direction of y-axis and inclined at 30° with the
positive direction of x-axis ?

(a) x-24/8y-342 =0
(b) x+2+3y-342 =0
() =x+ J§y—2\/§=0
d x-+3y-2v3 =0




49, If¢ cos o+ cos P + cosy =0, & 0 < o <

2
sin o + sin B + sin y T HE 8 ?

0<Bsg~, 0<y<Z & @

(a) 0

(b) 3
5v2

(C) T
3v2

50.

1 Jfrerad T YIe BT @
(a)
(b)
(c)

(d) ™

i
2

SRCY-S-ADN

2

o3

sin [X+§] + cos (x-kg),\_rlﬁ X € [O, g] %,

51.

52.

53.

(19-A)

3 fomgatl & e o gt w1 8 S (4, 3) 3N
(5, 7) %! ST AT {WIES I AR 37 A
T 2:3% 3ua § fawnfsa & 8 2

12417
5

13417
5

(a)

(b)
J17
(€ —
5
g S
5
W @rei (mz—mn)y=(mn+n2)x+n33:ﬁ'(

(mn + m%) y = (mn —n?) x + m3, & m > n &,

& = T BT AT R 2

tan

(a)

(b)

tan™

1| 4m°n

(c)

tan™

(d) 45°

30 T WGT hT GHIRWT T B S y-31eT ohl
FOMcHe TS & 2 1 TS Hedl §. 3
x-318 ! GTcHe G % WA 30° W FH! TS
27
(a) x-24/3y-342 =0
x+2/3y-3J2 =0
X+ J3y-243 =0 -

x—-\/gy—.?.«/g =0

(b)
(c)
(d)




54. What is the equation of the line passing
through the point of intersection of the lines
X+ 2y—-3=0and 2x —y + 5 = 0 and parallel
“totheline y—x+10=07?
(a) Tx—Ty+18=0
(b) b5x—T7y+18=0
(c) b5x—-56y+18=0
- (d) x-y+5=0
55. Consider the following statements :
1. The length p of the perpendicular from
the origin to the line ax + by = ¢ satisfies
2
the relation p? = :
a2 h2
2. The length p of the perpendicular from
the origin to the line i % -
satisfies the relation -1§~ = ~12~ + —1~2—
p a b
3. The length p of the perpendicular from
the origin to the line y = mx + ¢ satisfies
2 2
the relation iz = l-km%
P c
Which of the above is/are correct ?
(a) 1,2and3
(b) 1only
(¢) 1and2only
(d) 2only
SRCY-S-ADN

56.

57.

(20-A)

What is the equation of the ellipse whose

vertices are (£ 5, 0) and foci are at (£ 4, 0) ?

2 2
25 9
2 2"
X ¥
b — +Z—=1
0 16 9
2 2
(o) e PNty
25 16
2 2
(A e
9 25

What is the equation of the straight line
passing through the point (2, 3) and making
an intercept on the positive y-axis equal to

twice its intercept on the positive x-axis ?
(a) 2x+y=5
(b) 2x+y=7
(e) x+2y=7

(d 2x-y=1




54, 3@ @ w1 gllew w2 S t@rsd
X+2y—3=03ﬁ'{2x—y+5=0%9ﬁ|ﬁ33ﬁ§
Y B TSR B SR W y—x +10=0%
AT B 2
(@ Tx-Ty+18=0
(b) Bx—Ty+18=0
() bBx-b5y+18=0
(d x-y+5=0
55. fr=fefgd et @ famm Fifdw .
1. ﬂ@-ﬁ@ﬁi@ax+by.:cmﬁﬂﬁ
Wép,'{:iii‘apzz cz-ﬁw
g2 L p2 -
AT R |
| 3 _
2. WAfg ¥ @ —~a=l W el )
o p, @ = -1 @ dge
P a b~
HAT B | |
3. I@—ﬁﬁﬁmyzm+cmm?ﬁm
o 1 T#m?#c? :
p, BIY —=————— I P Bl
p c
3
STfed U 9 $-E1/3 g 2/8 2
(a) 1,233
(b) hadt 1
(¢) chael 13 2
(d) had 2
SRCY-S-ADN

(94 -A)

39 g 1 arfistor o 8 fomees s (5, 0)
2 3 TfET (24,00 E 2

2 2
X ¥
a — +—=1
a) 25 9
2 2
(b) IR SR |
16 9
2 2
By il
25 16
2 2
@l S—pay
9 25

57. 3H W W@l 1 O @ R S g (2, 8) @

B oAl B, IR UATCHS o318 W I
A, YACHS x-318 W Ik IIAEE
AT S § ?

(a) 2X+y=5

(b) 2x+4+y=17

() x+2y=7
d 2x-y=1




 58.

59.

~ 60.

SRCY-S-ADN

" Let the coordinates of the points A, B, C be
(1, 8,4), (0,-11, 4) and (2, — 3, 1) respectively.

What are the coordinates of the point D which
is the foot of the perpendicular from A on BC ?

(@ (3,4,-2)
b) (4,-2,5)
© 4,5-2)

(d) (2,4,5)

What is the
through the points (- 2, 6, —6), (-3, 10, —9)
and (-5, 0, - 6) ?

equation of the plane passing

() 2x—-y—2z=2

(b) 2x+y+3z=3
() x+y+z=6

d x-y-z=3

A sphere of constant radius r through the

origin intersects the coordinate axes in A, B

~and C. What is the locus of the centroid of the

triangle ABC ?

(a) x*+y°+ .22 =r?

(b) :h12+y2+22=4r2

()  9(xZ%+y2+22)=4r2

Q

(d) 3(x2+v%+2%)=2r?

61.

62.

63.

(22_A)

The coordinates of the vertices P, Q and R of a
triangle PQR are (1, —1, 1), (3, =2, 2)
(0, 2, 6) respectively. If £ RQP = 6, then what
is £ PRQ equal to ?

and

(a) 30°+6
(b) 45°-0
(c) 66" -0
(d 90°-86

The perpendiculars that fall from any point of

" the straight line 2x + 1ly = 5 upon the two

straight lines 24x + 7y = 20 and 4x — 3y = 2

are
(a) 12 and 4 respectively
(b) 11 and 5 respectively

(c) Equal to each other

(d) Not equal to each other

The equatibn of the line, when the poftion of it

intercepted between the axes is divided by the

_point (2_, 3) in the ratio of 3 : 2, 1s

(a) Either x+y=4 or 9x+y =12

(b) Either x+y=5 or 4x+ 9y =30
(c) Either x+y=4 or x+9y=12

(d) Either x+y=5 or 9x + 4y = 30




58, W AR famgaft A, B ot C ¥ i

59.

60.

" SRCY-S-ADN (25—A)

(1, 8,4), (0, - 11, 4) 3 (2, - 3, DF | 34 forg

D% Fréwries a1 8 St AW BC W @e9E B 2
(@) (3,4,-2)

(b) (4,-2,5)

(¢ (4,5,-2)

(d (2,4,5)

fagati (-2,6,-6), (-3,10,-9) 3R
(- 5,0, —6) " BIH oA ATl THAA Hl

il T B 2

(a) 2x-y-—-2z=2

(b) 2x+y+3z=3

(¢) xX+y+z=6

(d)

X—-y—2z=3

uo-forg @ et oA e e (ereR) B
r 1 TH e s 1l ® A, B 3R ¢ W
wedl & | BS ABC % H5eh 1 foguyl &0
27

2 2 2

(@) x%+y?+ze=r

() - x2+y2+ 22 = 4r?
(€) 9 (x*+y%+2%) =4r?

(d) 3 (x%+y%+ 22 =2r?

61.

62.

63.

w# ys PQR % 3Nt P, Q 3 R & Fduies
U (1, -1, 1), (3, - 2,2) 3 (0,2,6) 3 | Il
Z/RQP =038, @ ~ PRQ forteh st 8 2

(a) 30°+0
(b) 45°-8
() 60°—8
(d)  90°-0

WA W 2x + 11y = 5 % Tt off fog &, @

fmaianﬁ 24x + Ty = 20 3 4x — 3y = 2 W
TS ATl sl ol SEgAT 8

(a) AU 12 3R 4

(b) SHES: 1137 5

(c) UH-GHL % S

(d) TH-gEL & S TEf

39 @1 1 gufieRr 1 @ s v & i o
Ha:@fed 3w, g (2,3) % g0 3: 2% U
3 fqmfera gar & 2

(a) Iin?ﬁx+y:4'¢1’f9x+y=12
(b) I x+y=>57%T 4x + 9y = 30
(c) ?ﬂ?ﬁx+y=4mx+9y=12

(d) IMA x+y=53 9x + 4y = 30




~ 65.

64. What is the distance between the straight
lines 3x +4y =9 and 6x+ 8y =157
(a) 3/2
(b)  38/10
@) -6
(d) 5
What is the equation to the sphere whose
centre is at (— 2, 3, 4) and radius is 6 units ?
(a) x2+y2+z2+4x—6y—8_z=7
) x2+y?+2z°+6x—4y—-8z=17
() x2+y2+2z°+4x—-6y—8z=4
(d x*+y°+z2+4x+6y+8z=4
=3 =P -3
66. If a and b are vectors such that | a I =2
Y — — A A A
| b|=7and a x b =3i +2j +6k, then
' - -
what is the acute angle between a and b ?
(a) 30°
(b)  45°
(c} 860°
(d) 90°
SRCY-S-ADN

67.

68.

69.

(84K

> —> P
Let p and q be the position vectors of the

points P and Q respectively with respect ‘to
origin O. The points R and S divide PQ
internally and externally respectively in the

2 =
ratio 2 : 3. If OR and OS are perpendicular,
then which one of the following is correct ?

(a) 9p?=4q>
(b)  4p?=9q?
(¢) 9p=4q
(d 4p=9q

What is the moment about the point
A A A A A
i +2j — k of a force represented by 31 + k

A A A
acting through the point2i — j +3k ?
A A A
(a) —-31+11j +9k

A A A
(b) 3i+2j +9k

k A A A
() 3i+4j+9k

A
1

>

A
+j +

SES — L P
If a+2b+3c¢c =0 and

-5 = > e =
a x:b -+ bx-e # € %X ‘a

then what is the value of A ?

- -
=A(b x ¢

),

(a) 2
(b) 3
(¢) 4
(d 6




64, T 1@l 3x + 4y =9 X 6x+8y=15%%

CICE AR
(a) 3/2

(b) 3/10

() 6

@ 5

mﬁéa:rmﬁww%ﬁﬂwﬁ(-z,&@

65.
T 3 IR B 6 g 8 2
(@ x2+y°+2z°+4x-6y—8z="7
(b) x2+y2+z2+6x~4y—82=7
() x2+y2+2z2+4x—-6y—-8z=4
(d) x2+y2+z2+‘4x+76y+8z=4
66. & & o b WaRm I/ |4 =2
|Ta)|=73ﬂ'(:xg:3’i\+23+6f;%,?h
P & ofiel ST =IO FIT 2 ?
(a) 30°
(b) 45°
() 60°
d 90°
SRCY-S-ADN

67.

68.

69.

(25—-A)

T S qa-fag 0 % wma, fagat p et
¥ feuf aftw saw: p ol g | g R ¥R
S, PQ ! SATANeh 3R 16 ®9 & hu3: 2: 3
T ffr w3 § | 9 OB 308
T e E, @ Frafafed 3 @ wear g @ 0

(a) 9p?=4q?

(b) 4p?=9q¢>
(¢) 9p=4q
(d 4p=9q

31 + k & Frefim s@, S fig 21 - j +3k @
Fra 2, 1 fg 1+ 2] — k % 18 st @
g7

A A A
(a) —31i+11j +9k

A A A
(b) 31 +2j +9k

A

A A
(0 3i+4j+9k

A
1

A A
(d) +j+k
oy —> — —>
e a +2b +3¢ = 0 3

s A A S
axb+bxc+ ¢

B, A AR A FTR ?

(a) 2
(b) 3
() 4
(d 6




- -
70. If the vectors k and A are parallel to each

-5 =
other, then what is kk x A equal to ?

_._}
(a). k%A
=
b) 0
. %
(¢) -Kk2A
-
d) A

71. Which one of the following is correct in
respect of the function f: R — R' defined as
)= ix +1|?

(a) f1x?) = [f(x)]?
(b) fl|x|)= |fix)]
(c) fix+y)=1fx)+1fy)
(d)  None of the above
72. Suppose f: R — R is defined by
2
flx) = —= = What is the range of the:
1+x :
function ?
(a) [0,1)
(b) [0,1]
(e} (0,1]
(d) (0,1)
SRCY-S-ADN

73.

74.

75.

(26-A)

If fix) = |x| + |x— 1], then which one of the
following is correct ?

(a) flx)iscontinuousatx=0andx=1

(b) f(x) is continuous at x = 0 but not at
x=1
(¢) flx) is continuous at x = 1 but not at

x=0

(d) f(x) is neither continuous at x = 0 nor at

=1

Consider the function

x2In o4 s <20
fix) = :
0 x=0
What is f'(0) equal to ?
(a) O
(b) 1
() -1

(d) It does not exist

What is the area of the region bounded by the

parabolas y2 = 6 (x — 1) and y2=38x?

J6
(a) 3

2.6
3

46

3

5.6
3

(b)

(c)

(d)




70. AR WRE k N A whgE F wwiew §, @r|78 I A0 = x| + |x-1| B, q Fefaiea 4 @

EXX%G%W%? T R 2

(a) fix), x=03N x=1T Fad a

—>
2 . 2
ke (b) fx), x = 0 R A Had B, ARFT x = 1R 7&
® 0 (0 fix), x=1WR d Tad 8, Afehd x = 0 T Tal
5 @ fx), AT x=0WFA@ 8 I A& x=1W
0 -k2A
—3
L 74, HeF
x?In|x| x=#0
f(x) = W fa=m Fifsw |
: 4 - .0 x=0
7. BeH f: R— R, & fix) = |x + 1| % g g0y P 5,
gfenfya 8, & @ed # Fafafea # @+
T B ? | (a) O
. ; b 1
(a) f(x?) = [f(x)]?
(g -1

(b) fi|x|)= |fix)]
(d) 391 Afeacd 781 8
() fix+y)=1flx)+f(y)

(d) 39w H ¥ Hig &I _
75. y2 = 6 (x — 1) 3 y2 = 3x g1 INeg &
9 & AT FT R ?
72. WM oif9T f: R — R, fix) = 1X > % g
+ X
yfenfya 2 | 39 B 1 9 (W) @ 8 2 (a) —‘/35
(a) [0, 1)
ak G 28
3
(b) [0,1]
_ 46
: (e  ——
(e) 0,31 3
@ 1 @ 58
3

SRCY-S-ADN (27-A)




Consider the following information for the|

next three (03) items that follow :

Three sides of a trapezium are each equal to

6 cm. Let o e [0, g] be the angle between a

pair of adjacent sides.

76. If the area of the trapezium is the maximum
possible, then what is o equal to ?
n
(a) ‘6"
hyle &
(b) 1
T
(c) 3
2n
T
(d) 7
77. If the area of the trapezium is maximum,
what is the length of the fourth side ?
(a) 8cm
(b) 9cm
(¢) 10cm
. (d) 12em
78. What is the maximum area of the trapezium ?
(a) 3643 cm?
(b) 3043 cm?
(¢) 2743 cm?
(d 243 cm?
SRCY-S-ADN

b1

79. What is J. e* sin x dx equal to?

80.

81.

(28-A)

0

(a)

(b)

(e et +i

e 4

(d)

x2_9 : :
If f(x) = SRR e 3 is continuous at
x°-2x-3 '

x = 3, then which one of the following is

" correct ?
(a) f3)=0
(b) f3)=15
() f8)=3
(d f3=-15

e

What is j‘ xInxdx equalto?

(a)

(b)

(c)




AT H1 are /i (03) TV & fore REforfaa

w1 o¥ faemy #fe

T U hl dH gI s 7 o T ¥
U H AWE 6em B | "A AT
ae(o.g}éwgmaﬁ%wglu%aﬂaam
I 7 |

76. dfc GAs *1 &% guifad siftrerad 2, 91 «
fopger STeR 2 9
(@) =
a) 5
W I
(b) 1
T
) A,
(c 3
2n
il e
( 5
77. IG GUAE H HABA AUhan 7, a1 FAref oGS
&1 TS T B 2
(a) .8cm
(b) 9cm
(e) 10 ecm
(d) 12cm
78. WS h1 SUHdH STHA T & ?
(a) 386+/3 em?
(b) 30\/§ em?
() 273 em?
(d) 243 cm?
SRCY-S-ADN

79.

80.

81.

(29-A)

b8
J.ex sin x dx, TrEesh SRR 2 -
[}

(a)

(b)

(e) e™ +1

a® ]

(d)

x2 -9 o
Ifa f(x):2—,313Tx¢3%,x=3 Ty

o R A S A
(a) f(3)=0

b  f3)=15

(¢) f3)=3

(d f3)=-15

e

I xlnxdx,ﬁl?ﬂa?w{%?

Glj = ; 1
) e24+ 1
@ e;l
@ ‘“’24“1




J2
82. Whatis J. [x%l dx equal to (where [.] is the
) .
greatest integer function) ?
(@) +2 -1
b 1-42
© 2(2-1
d V3 -1
83. What is the maximum value of
16 sin 6 — 12 sin% 6 ?
(a) 3/4
(b) 4/8
() 16/3
d 4
84. If f:R— S defined by
f(x) = 4 sin x — 8 cos x + 1 is onto, then what is
S equal to ?
(a)  [-5,5]
() (-4,6)
(d) [-4,6]
SRCY-S-ADN

85.

86.

B7.

(30—A)

For f to be a function, what is the domain of f,

ifﬂﬁ:-Eﬁt;?
(@) (e, 0)

® (0,

© (o0, 0)

@d)  (=,0

What is the solution of the differential

equationxdy—ydx=07?

(a) xy=c

(b) y=cx

() x+y=c

(d =x-y=c

What is the derivative of the funection

flx) = e®®2* 4 In (sec x) — e/ * at x = 7} ?
(a; e/2

(b) ‘e

() 2e

(d) - 4e




/2 85. AR fTH %o B, dl £1 Wid (SWA) =1 8§ Afe
82. I[xz]dx,%e%w%(aﬁ[.}ww s e B

Jix|-x
0
B B) ?
) (a) (=0, 0)

@) — /2 —1

(b) (0, )
B) 1~+2

() (= oo, 00)
© 2(42 1)
(dy +B8=1

86. TTHA THIH xdy —ydx =0 1 & FT 8 ?
83. 16sin 0— 12 sin?0 T AfHhHdy U F=AT 8 ?

(a) xy=c
(a) 3/4
)  4/3 Pl =t
() 16/3 (¢) x+y=c
b 4 . d =x-y=c

87. WoH flx) =" * 4 [n (secx) — e ¥ H x = - T

n
84, ARF:R— S TE fix) =4sinx—3cosx + 1, 4

STaHAST T 8 2
ATEBTEF B, Al S fopah SR B 2
(a) ef2
(a) [-5,5]
M5 5,5 =
() (-4,6) (c) 2e
@ [-4,6] W s

SRCY-S-ADN (31-A)




88. Which one of the following differential

equations has a periodic solution ?

(a)

(b) —‘-.—-ux=0
(¢) x— +ut=0

(d) s uxt =0

where p > 0.

89. What is the period of the function f(x) =sinx ?

(a) m/4
(b) m/2
() =
(d) 2n

90. Whatis J.

(a) In(2ZX-—1)+c

i —-X
(b) In(1-277%) et
n2

n@2™>-1)
—_—— +c

)
A& %0n 2

nh(1+2™)
+c

(d
: n?2

SRCY-S-ADN

91.

92.

93.

(32-A)

The order and degree of the differential

€a?

equation y?=4a(x—a), where ‘@’ is an

arbitrary constant, are respectively

(a 1,2
(b)) 2,1
() 2,2
@ 1,1

nf4
What is the value of (sinx —tan x) dx ?

SNy

(a) i) + ln(i]

X2 J2
1

(B) = mms
J2

@0

@3B

b b
If J‘ x3dx = 0 and J. x?dx = %,then
a : a

what are the values of a and b respectively ?

(a) -1,1
L o Jol
(¢ 0,0
@ 2,-2




88. fmfetfiad sreehet wfloni # @ forment et | gy

B8 2

(a) ~3:—;{+px=0
(b) z—:zf—uho
(c) xi—: +ut=0

dx
(d Lot ti=0
b g

& u>0 % |

89, W f(x) = sin x I AR FIT 8 2

(a) m/4
(b) m/2
() m
(d 2n

, Topues et 2 2

90.Idx

(a) In2*-1)+c

In(1-27%)
o PR

b
() In?2

(2= <1)

© 2In 2

In(1+2™)
— "4

(d) D

SRCY-S-ADN

92,

(35=A)

y2=4a(x—a),3ﬁ‘a’@@?\=§éﬂﬂté, *
JTaehcl THIRT HI ife (ATR) ot uma (ferft)
U 8

(a) 1,2
(b) 2,1 .
() 2,2
@ 1,1
/A
J. (sin x — tan x) dx %[ HIF RIT 8 ?
— /4

(a) —% " ln(%]

1
(bh) —
J2
| (¢ O
@ 2

b b
4 aﬁjxsdx:oaﬂxj'xzd“g%,a

aaﬂtab%ﬁtrmm:w %a?

(a) -1,1
(b) 1,1
() 0,0
d  2,-2




1
94. Whatis J. x(1-x)°dx equal to?
0

(a)  1/110
(b) 1/132
(c) 1/ 148
(d) 1/240

B8 WThgtan - T, a0 X
x—0 sin 2x

(a) 1/2
(o) il
(e) -\ 2

(d) Limit does not exist

| . J2x+8h -2
8. Whatls Jin V0" vax

h—0 2h -

(a)

: bo
3
~

k) ——

(e)

(@)

SRCY-S-ADN

equal to ?

equal to ?

97.

98.

199.

(34-A)

If f(x) is an even function, where fix) # 0, then
which one of the following is ¢orrect ? !

(a) f'(x)is an even functiqn
(b) f'(x)is an odd function

(¢) f(x) may be an even or odd function

depending on the type of function

(d) f'(x)isa constant function

2 ' -
If y = e sin 2x, then what is %—X atx=nm
b.4

equal to ?

(a) (1+m e112

(b) 2n 9“2
@ it
@ e

What is the solution of
(1+2x)dy~(1-2y)dx=07?

(@) x-y-2xy=c

(b) y—x-2xy=c
(€ y+x-2xy=c

d =x+y+2xy=c




1 |97, =R fx) TH TH Wew B, FE fix) < 0 B, @

94, I x(1-x)?dx, TorEeh ST & 2 fefafga d @ s g 2 2
0
(a) f'(x) 99 B &
(@) 1/110
(b) f'(x)fowm w2
(b) 1/132
(¢) f'(x)E" 31 a9 B & Tehar B, S e
(c) 1/148 F TR T i e 2
@ 1/240 (d) () Th 3T A

95, i S2RE Rerdwmr R o
x—0 sin 2x

2
98. IR y=e* sin2x B, a@ %X F x = 1 W/ M,
X .

(@) 1/2 ' opaeh seR ® 2
(b) 1 (a) L+m e“?
(c) 2 2

(b) 2ne”"
(d) Hmr  HAfedcy 78t 8 2

(e) 2e™

@

96. lim "2“3}1_@,%&%%(%?

h—0 2h
(a) .

oVox 99, (1+2x)dy—(1-2y)dx=0, B T & ?
(b) B (a) x-y-2xy=c¢

J2x

3 (b)) y-x-2xy=c
(c)

2v2x

(c) y+x-2xy=c

@ -3

42x - (d x+y+2xy=c
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100. What are the order and degree, respectively, of

the differential equation 103. If the correlation coefficient between x and y is

ady 2 gy 5 ) 06, covariance is 27 and w‘rariance of y is 25,
[E} o Yo [:l;) y , then what is the variance of x ?
Wik - ' @ 9/5
() 112248t .. ' (b) 81/25
(e) 38,2 @ .9
d 5,4 : @ 81

101. In a Binomial distribution, the mean is three
times its variance. What is the probability of| ;94

o ot ut o b A . The probabilities that a student will solve

Question A and Question B are 0'4 and 05

(a) 80/243 respectively. What is the probability that he
solves at least one of the two questions ?

(b)  40/243 '
(a) 06

(¢) 20/243 ®) 07

(d) 10/243 ‘ (e) 08
(d 09

102. Consider the following statements : '
4 P(A UB)=P(4)+P®B) -P(A.NB) 105. Let X be the mean of x;, xé, Ko 4ray, X0 IE

9 P(ANB)=P(B)—PA N B) x; = a + cy; for some constants a and c, then
" what will be the mean of y;, ¥, ¥g5 --» ¥, ?

3. P(A N B) = P(B) P(A|B)
(a) a+cx
Which of the above statements are correct ?

Lrat
(a) 1and2only (b) a- o X
(b) 1and3only 1.
(c) 'E X —a
(¢) 2and3only
X—a

(d 1,2and3 (d)
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101.
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' 100. 3YTHd  GHIEHWT (d—%i]z: g (ﬂf, E]|

dx?3 dx
ﬁﬁ(aﬁét)_aﬂwm (feft) shmsr: /o 8 2

(a) 4,5

(b) 2,3

(e) 3,2

d) 5,4
us fgug &ieq W, e, oo &1 o T (fore)
1 5@ (Them) § 4 dik-dte 3 heand
3T <6t wTRrekar o 8 2

(a) 80/243
(b) 40/243
() 20/243
d) 10/243

102, fr=fafed saat w fomm Hifsm .

1. P(A UB)=P(A)+P®B)-P(A NB)

2. P(ANB)=P®B)-PANB)

3. P(ANB)=P(B)PA|B)

ST | ¥ S HoF TE E 2
(a) had 13 2

had 13K 3

% 2 31 3

1,23 3

(b)
(c)
(d)

(37

103.aﬁxaﬁxy%ﬂaasﬁa'agvﬁ$0-s%,

104.

105. AF ®NT x,, x,, Xg, ...

8

TEIEWT 27 8 3 y BT TEO 25 B, @ x
TET T 8 2

(@ 9/5
(b) 81/25
© 9

(d) 81

e faeneff gru w99 A 3 91 B ) 8 = U
&t TTRehaTd ST 0-4 3R 0-5 8 | o1 TRehdr
%%%ﬁwﬂﬁ%mﬁwwﬁww
T 2

(a) 06
(b) 07
(¢) . 0:8
(d 09

, x, A X R |

?Ilﬁix-=a+cy-%,ﬁlﬁa3ﬁicﬁ'§3??ﬁ%,ﬁ
l l

Y1 Yo Vgs eves ¥, 1 HTEA AT I1T 2

a+cx

(a)

(b) a—li
c

(c)

o |-
»l
|
W

pl
I
w

(d)




106.

107.

SRCY-S-ADN

Consider the following statements :

1 If the correlation coefficient S 0, then

the two lines of regression are parallel to

each other.

2. If the correlation coefficient oo =i 1,

then the two lines of regression are

perpendicular to each other.

Which of the above statements is/are correct ?

(a) 1only

(b) 2 only

(¢) Both1land?2
(d) Neither 1 nor 2

If 4x -5y + 33 =0 and 20x — 9y = 107 are

two lines of regression, then what are the

values of X and ¥ respectively ?

.
Y]
—
AV
)
=]
=]
|k
co

(b) 18 and 12

(¢) 13 and 17

(d) 17 and 13

108.

109.

(38—A)

Consider the following statements :

1.  Mean is independent of change in scale

and change in origin.

2. Variance is independent of change in

scale but not in origin.

Which of the above statements is/are correct ?

(a) 1only

(b) 2 only

(¢) Bothland2
(d) Neither 1 nor 2

Consider the following statements :

1. The sum of deviations from mean is

always zero.

2, The sum of absolute deviations is

minimum when taken around median.

Which of the above statements is/are correct ?

(a) 1lonly

(b) 2 only

(¢) Both1land2
(d) Neither 1 nor 2




106. F=fafga suat w fomm Sifs -

107.

1 W weEEw T ro-0 3, @ A
HHIHA T@TE Th-GH h I 2 |

2. A WEESH TN ry = +1 8, A I
THTHAT T IR & 8 |

Y

(é) *ad 1

(b) A 2

(e)

13T 2 EFT

(@ Ad1LITE2

A 4x — 5y + 33 = 0 3 20x - 9y = 107
THIHAV W@ &, @ x 3R y % WA HAN: =

g7

12 37 18

(a)

(b) 18312

(¢) 13317

(d 17313
SRCY-S-ADN

108, F=feiRad et w femm Hifsw .

109.

(39-A)

1. Hied, A19sRH § Seed SR gt # daere |
WA B |

2. WE, HHH ¥ 9eeTE ¥ T § 0 gel

7 SgarE | TE |
SUYFd # & HHAT/F B T 2/ 2
(a) A 1
(b) e 2
() 13 2

(d dd 1,982

fFafafes s w f=r Hifsm .

8 _mwﬁﬁaaﬁwzﬁwaéawam
g |

2. Fede fomemi 1 Aneet 9@ =paw a2
9 9 Hifedenr @ forw sma §

3UYFd HUAl § T HHE-AT/D TE /R 2

(a) hdd 1

(b) had 2

(c) 13 2TMl

@ TMLIB2




110.

111.

112.

What is the median of the numbers

46, 0, 93, — 48, 7-6, 2:3, 127, 35, 82, 61,
39,527

(a) 38
(b) 4-9
(a): [C= B
(d 60

In a test in Mathematics, 20% of the students

obtained “first class”. If the data are

represented by a Pie-Chart, what is the

central angle corresponding to “first class” ?

(a) © 20°

(b) 36°

(c) 22

(d) 144°

The mean and standard deviation of a set of

values are 5 and 2 respectively. If 5 is added to
each value, then what is the coefficient of

variation for the new set of values ?

(a) 10
(b) 20
(e) 40
(d) 70
SRCY-S-ADN

113.

114,

116.

(40-A)

A train covers the first 5 km of its journey at a
speed of 30 km/hr and the next 15 km at a
speed of 45 km/hr. What is the average speed

of the train ?

(a) 35 km/hr
(b) 375 km/hr
(¢) 395 km/hr
(d) 40 km/hr

Two fair dice are rolled. What is the

probability of getting a sum of 7 ?

(a) 1/36
(b) 1/6

eyt /12
(d) 5/12

If A and B are two events such that
2P(A) = 3P(B), where 0 < P(A) < P(B) < 1, then

which one of the following is correct ?
(a) P(A|B)<P(B|A)<PANB)
(b) P(AANB)<PB|A) <P(A|B)
() P(B|A)<P(A|B)<P(ANB)

(d) P(ANB)<PA|B)<P(B|A)




110, EE3T 46,0,9-3,—48, 76, 2:3, 12'7, 3:5, 82,

111.

6-1, 3:9, 5-2 eI WIFEIHT 7 8 2

(a) 3-8
(by 49
@)y b7
I(d) 6:0

it <1 U wlien §, 209 o “wom A g
U § | e g9 B UH U AR (JANE) gR
frefig e s 8, @1 “gem 2oft” & Twa
eI IO T B ?

(a) 20°

(b)  36°
"(e) T72°

(d) 144°

112. 9fEM (A1) % UH qg=E &, WeT i qw

foaem sus: 5 3R 2 2 1 afe s gfmm
(we) § 5 Sre fem smu, & gfmen % T
T 1 =T ores T g 2

(a) 10
(b) 20
{c) 40
(d) 170
SRCY-S-ADN

113. TH (TS A9 I060 % Y49 5 km, 30 km/hr

114.

(41-A)

# I § 3N I 15 km, 45 km/hr T =7
g a9 HT & | oSl i sitad et R 0

(a) 35 km/hr
(by 375 km/hr
() 395 km/hr
(d) 40 km/hr

<) Feugr arEi 1 SR S R | I W AR 7
31 1 ST &= 2 2

(a) 1/36
(by 1/6

© 7/12
@ 5/12

115. I A 3R B 30 YR & 2 "W 3 f&

2P(A) = 3P(B) 78T 0 < P(A) < P(B) < 1 &, dl
Frafafega d @ s w2 9

(a) P(A|B)<P(B|A)<P(ANB)
(b) P(ANB)<P(B|A) <PA|B)
(¢) P(B|A)<P(A|B)<PA N B)

(d) PANB)<PA|B)<PB|A)




116.

117.

A box has ten chits numbered 0, 1, 2, 3, ..., 9.
First, one chit is drawn at random and kept
aside. From the remaining, a second chit is
drawn at random. What is the probability that

the second chit drawn is “9” ?

(a) 1/10

(b) 1/9

() 1/90

(d) None of the above

One bag contains 3 white and 2 black balls,
another bag contains 5 white and 3 black

balls. If a bag is chosen at random and a ball

is drawn from it, what is the chance that it is
.white 7
(a) 3/8
(b) 49/80
(c) 8/13
(dy 1/2
SRCY-S-ADN

118.

119.

120.

(42-A)

Consider the following in respect of two events
AandB:

1. P(A occurs but not B) = P(A) — P(B) if
BcA :

2 P(A alone or B -alone
P(A) + P(B) — P(A N B)

oceurs) =

3 P(A U B) = P(A) + P(B) if A and B are

mutually exclusive
Which of the above is/are correct ?
(a) 1lonly
(b)
(c)

(d)

1 and 3 only
2 and 3 only
1 and 2 only

A committee of three has to be chosen from a -
group of 4 men and 5 women. If the selection
is made at random, what is the probability
that exactly two members are men ?

(a) 5/14
(b) 1/21
(c) 3/14
d) 8f21

The standard deviation o of the first N natural
numbers can be obtained using which one of
the following formulae ?

=
b)) o= Nzlg :
() o= %
(d o= N:ﬂ; 1




116. T fssa § 10 ufai € o ww 0,1, 2, 3, ..., 9

117.

SRCY-S-ADN

forar gam @ | ugdl U u=ll Igesd fereh
St @ SR U W W@ @ A 7 | b gi
49, wh gudt o= ageew feeedt s @ )
el 9=l % “0” B Y ATRrehar I B 2

(a) 1/10
b 1/9
()

(d) ST ¥ ° HIE T

1/90

Th Il H 3 W IR 2 He 7S, g 9§
5 Thg 3 3 Felt W & | IRk w A =+
TSN A I B SR 3FH A s g Frereh
St R, dt g % T EN <l F Wifekar @ 2
(a) 3/8
(b)  49/80
() 8/13

@ 1/2

118. T g3l A R B & el #, fafafes w

119,

120.

(43-A)

foam Fifse .

1. P(A=fd g afsr B &) = PA) - PB)
FeBc A

2. P(®FA@ A I Haad B =i @) =
P(A) + P(B) - P(A N B)

3. P(AUB)=P(A) + P(B)afe A 3R B IR
el &

IgFd § | HH-I/A & 2R 2

(a) had 1

(b) hael 137 3

(c) had 23N 3

(d) e 13K 2

4 9591 AR 5 Afgeedl % wh wyg # ¥ 3 @
1 sk wiufa 1 ==e e 9§ 1 afe smm
Irgesdl foram Sran &, ot o wifrehan @ o g
deh-dieh 2 HeEd goY &/l 2

(a) 5/14
(b) 1/21
() 3/14
@ 8/21

fr=fafea 4 @ fva @3 &1 99+, 99w N
WThfcreh HEATST 1 W foreed o, I fapar
T HehaT 8 2

(@) o= N212— :
(b) o= Ni; L
(60 o= %
) o= N:}; L




SPACE FOR ROUGH WORK
Tl TIH o foTg ST
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SPACE FOR ROUGH WORK
=t w1 o fore wre
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SPACE FOR ROUGH WORK
H= HH & fo10 STE
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SPACE FOR ROUGH WORK
H I & oo T
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S 7 HTTH T THLT GieranT @ier &1 T HgT AT T % T Giet

A. &1, =, : SRCY-S-ADN wdieror gierent STTswH

T

nwa%wa“aﬁ?a?wﬁva guries : 300

10.

A
uﬁwm@ﬁ%wm,mwﬁwg@mﬁmmwﬁ%wﬁﬁ%w,
mm'{grgmwarwm,aﬁqgﬁlaﬁﬁm%,ﬁsﬁﬂﬁuﬁwgﬁwﬁmml
FUaT A W@ fh OMR 3709 #, ST som w, e Fwar ofit udteron giwent (e
#12) A, B, C @1 D &, 2 ¥ va famn foneht <o o fawmia & o oft spemg w0 R el
soffeam 1 B | TRl oft weere Y e /famfa < ferfar o setousres frea @6t T e |
39 wterT et T EY § {2 0 hseeh W ST ST ‘
TR forea B | whew gfeast e g T e |
=g gl e § 120 T (7)) Ru e # | yes S R SR st S H B 8 | T
oA B AR YegEl () fu e | 3 & uh geger g o, 8 e Se-me W sAhd
TR & | A AT vET o 5 U ¥ 21 YR WA ¥, a1 36 JegTl i Sifhd L S ST Halw
M | I ST % U @eer o gt TR I R |
IR G T TR T & fiu T Sevmes W F? Sifehd H # | I | fou e ey e |
Tyt GEHTE o 37H THH B |
TEd Eel b 311 e qiee & R e % YRR STH-UES W T B IE H, AT e
IO % Gy UG e % IgER S faawer IwuEs H1 E |
maﬁaﬂﬁgﬁﬁm-ﬁmﬁmﬁ%mawqﬁw%wma‘,ac‘-rm-wmﬂwﬁ
T 3 | e g1 ghteror gt & S A1 eEfd 2 | j
el I o T s g7 giient & 3 § §erF & |
'{Fﬁﬂﬁﬁﬁ?ﬁ‘l’({m:

TEgE weA-uEt § Ieftgar g fu T et st o fore que fean s |

() uerE W ¥ AU SR Swieye IR | 3nfiaR g g W % fore e e e e IR 6 foe g
79 TR fepy o 3Rt 1 Ueh-foreTE qus % w9 H e 9 |

(i) afE PR Ioficar v @ sl I 3 ¥, @ 30 Terd IWC A S, g fou me Swd 4 @ o I
wel gt 2, fre off 38 wea % fore Swiwger @ € atE i gue fea S |

(i) afE Ifiear g RIS W B T8 e S 2, atefq sefiean g IR 9d e e 2, A 59w ¥
foru, rg gu= & fean o |

ST A HATTHT T TAHUT GIeaasT @ieT &1 7 gl AT T aa 7 @iet

Note : English version of the instructions is printed on the front cover of this Booklet.
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